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Math worksheet on 'Slope of a Line - Select Linear
Equation Based on Slope and Y Intercept (Level 4)'.
Part of a broader unit on 'Line Equations and
Graphing - Practice'
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4 Select the equation that would
result in the line shown with a
y-intercept of 9 and a slope of

0.1
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6 Select the equation that would
result in the line shown with a
y-intercept of 1 and a slope of

1.29
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Select the equation that would
result in the line shown with a
y-intercept of 1 and a slope of

0.63
a 4y =-187z-05
b —-1:-063
C y=-187z+1
d ,-063z+1
e y =113z +1
a b

y=-192+9y =0.1z+9

c d
y=-09z+75y = 1.6 +9

e
y=-92—-0.1
a b

y=079%—-05y =—-1zx—-1.29

c d
y=1792+25y =1.29z + 1
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result in the line shown with a
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c d
y=-12x+10y = 0.8z + 10

e
y=-10x + 1.2

Select the equation that would
result in the line shown with a
y-intercept of 2 and a slope of

0.29
y =229z + 2
y=-121x +2
y=0.292 4 2

y=—0.7lz +35
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y =-0.21z + 0.5

Select the equation that would
result in the line shown with a
y-intercept of 4 and a slope of

-0.14
a 5y =036x+25
b y =—0.64z + 2.5
c y=-014x + 4
d y=—4x +0.14
€ y=036x+55

Select the equation that would
result in the line shown with a
y-intercept of 9 and a slope of

-1.6
a y=-21zx+75
by —-362+09
C y=-01z+105
d 4y -16:19
e y=-16zx+9
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